675 airtecnics Instrucciones
de montaje

S —
ECFanGrid Retrofit

o

Instrucciones de ensamblado
para 4 ventiladores

AIRDOM55407



Materiales

Q5x-xxxxx

NXX-XXXXX

$52-0000x

S52-00009
‘O.
SO4-xxxxx

S52-XXXXX

FGO-xxxxx

SH2-XXXXX

§52-0020x T



I3

XXXXX-ZGS

XXXXX-ZGS

XXXXX-Z

12
I

J3

J2

J1

J11

J21

J31

S52-02010

S52-02011

S52-02012

¢1LE06-0V1

D=

cOvvv-0vl

Q=

¢0EYY-0vl

0LE06-0VL
€0€06-0V1

0o

60€0L-0VL
LO¥06-0VL

G

M8x25 6,3x25
[20 Nm]

M6x16

M6x20

M8x16

9Z L00-ES0NSH
n @

NL1000-L00MSH

= &

NLOOO-6004SH

° S



Kit

de instalacion

para 5 ventiladores S52-90015/ -17

T1 T2 0 T3 Z T4 Z T5 ©
O o o0 O o
g 5 S g % S
o o 1 1 I
§ & 2 % S S S
> w o o o
o > n (9p) wn
o [9p] (7p] 90} 9p)
= S p S
6 mm 4 mm
N T7 ©o =
3 S 0 N
S S S 2
: 5 : -
= o g
(O}
3,5 x 145
Vi v2 V4 V5
S 3 S S
= 8 2/ 8
=] o~ N~ / —
/
TE1-00056 12 x 0,25 mm? 40 x 60 2,5x100
4G 1,5 mm?
TE1-00057
4G 2,5 mm?
Opcional
V8
o 2 > 3
s . & =
Q | N %
% / w =
Sensor
Herramientas

@

10& 13 mm

TX10&TX 20
TX 30



Extra Info

P
l —_____—_‘——1—_____
\::-_;:_-_;.:1::?

. 6pt_|o|;al_ .

\
y

3 . .,/,
. . . /.
Pl ™ Pl ,..,..,..
=3 4\ ,,,.,,.
. ..,....
. \
4”..#% N ..,....,,,.
K : g/ ,,,..,,.,.., )
A
L= L= = /

B>2500 mm









n© +A

80 mm

|2 <160 mm
|3 <240 mm
1T1+12+13 < 500 mm

I -

J1+J2+J3 < 500 mm

J1< somm
J2<160 mm
J3<240 mm




T4 V4

T3 T5

a=16mm
b=10mm 9



Art.-Nr./ C d
Item No. [mm] [mm]
FG0-02020

FG0-02021 | 340 340
FG0-02019

FG0-04020 | 360 460
FG0-04019

FG0-04021 | 460 460
FG0-06020

FG0-09021

FGo-09021 | 269 760
FG0-06019

FGo-06021 | 469 660
FG0-12020

FGo-12021 | 269 960

10




V5 V1 V2




|

pirflow

AIRTECNICS - Conca de Barbera 6, Pol. Ind La Bruguera.
08211 Castellar del Vallés (Barcelona) Espana

Tel.: +34 93 71599 88 — Email: airtecnics@airtecnics.com

www.airtecnics.com/es/ecfangrid



mailto:airtecnics@airtecnics.com

	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5
	Diapositiva 6
	Diapositiva 7
	Diapositiva 8
	Diapositiva 9
	Diapositiva 10
	Diapositiva 11
	Diapositiva 12

